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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–I & II • EXAMINATION – WINTER 2013 

Subject Code: 310030 Date: 03-01-2014        
Subject Name: Engineering Mechanics 
Time: 2:30 pm - 05:00 pm Total Marks: 70 
Instructions: 

1. Attempt any five questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks.  
4. English version is considered to be Authentic. 

 
Q.1 (a) Define the terms. 

[1] Kinematics  [2] Freebody diagram  [3] Equilibrunt  [4] Couple 
[5] Limiting friction [6] Velocity ratio [7] Centrifugal force 

07 

 (b) Determine the max. & min. resultant of two forces having magnitudes 10 N 
& 8 N respectively. 

07 

Q.2    
 (a) A point in equilibrium is pulled by five strings at equal angle. If tensions in 

three consecutive strings are 5 kN,7kN & 6kN. Find 
tension in other two strings. 

07 

 (b) [1] State principle of superposition. 
[2] Find forces T & C for the crane shown in fig.{1} 
  

02 
 05 

   OR
 (b) [1] Find the component of the 10 kN force inclined at 60⁰ with Y-    axis in X 

& Y direction . 
[2] Explain types of equilibrium with neat sketch. 

02 
 
05 

   
Q.3 (a) Find the support reaction for the beam given in fig.{2}. 07

 (b) Calculate horizontal force required for a block weighing 20 N ,to 
push up the plane whose slope is 30⁰.The coefficient of static friction is 0.25. 

07 

  OR
Q.3 (a) Find the support reaction for the beam given in fig.{3}. 07

 (b) Find the C.G. for the fig.{4}. 07 
    

Q.4 (a) A body is projected vertically upwards with a velocity of 49 m/s 
From ground. 
Find [1] the time taken to obtain velocity of 29.4 m/s. 
         [2] the time & height when it reaches to max. height. 
         [3] total time when it will reach to ground. 

07 

 (b) Compare the equations of linear motion with that of angular motion 
by giving atleast seven points.  

07 

  OR
Q. 4 (a) The horizontal range of projectile is 240 m & time of flight is 8 sec. 

Find initial velocity & angle of projection. 
07 

 (b) A flywheel rotating at 60 rpm retard at 0.6 rad/s². Find time when it 
will come to rest & total angular displacement during this time. 

07 

   
Q.5 (a) Define reversible machine. 

Explain the condition of reversibility of machine. 
07 

 (b) Solve the Q-4(a) using V-T diagram. 07
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  OR  
Q.5 (a) For a simple machine following readings are observed. Find the law 

of machine. 
                       W(gm)                                  P(gm) 
                        1000                                     670 
                        2000                                     750 
                        3000                                     845 
                        4000                                     930 
                        5000                                     1020 

 

 (b) In a construction of concrete dam of 50 m height,concrete is lifted from base 
of the dam by a bucket 5 kN & rope of weight 80 N/m. 
Calculate the work done in lifting one bucket of concrete. 

07 

 
******* ***** 

 
               8 KN 20 KN 15KN     
       A B  
         45⁰                                      
      T 3 m 4m 3m 2m 
 
 
 C 20kN                                             
  25⁰ 
 
    
 4KN 2KN 8KN 
                     60⁰ 
 
 1m 2m 1m 1m 
 
 
  
 
 
 
 
  
 
 
 
 
 6cm 12cm 
 
 
 
 
 3cm 
 
 18cm 9cm 
 
  

Fig.{1} 

Fig.{2} 

Fig.{3} 

Fig.{4} 
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5|`Gv! V નીચેના પદો ƥયાƉયાિયત કરો. 

 [૧] Ƀƚુધ ગિતિવìાન [૨] Ⱥƈુતર°ખા�ચ́ [૩] સમતોલક બળ  

[૪] બળȻƊુમ  [૫] િસમાતંઘષ½ણ [૬] વેગȤણુોĂર[૭] કҰ̃Ɨયાગીબળ 

07 

 A બે બળૉ ૧૦ ક�.ƛȻ.ુ અને ૮ ક�.ƛȻ.ુ ના ંમહĂમ અને લȥĂુમ પર�ણામી 

બળો શોધો. 

07 

    
5|`GvZ V એક �બ�ȳુ એƈસરખા ȣણૂે બાધેંલી પાચં દોર�ઓ વડ° સમતોલનમા ંછે. 

જો ́ણ ˲િમક દોર�ઓમા ંલાગતા તાણબળો ૫ ક�.ƛȻ.ુ,૭ ક�.ƛȻ.ુ અને 

૬ ક�.ƛȻ.ુ હોય તો બાક�ની બે દોર�ઓમા ંઉĊવતા તાણબળો શોધો. 

07 

 A [૧] અƚયારોપણનો િનયમ લખો. 

[૨] આʌૃિત – ૧ મા ંદશા½વેલ °˲ન માટ° બળો T અ ન◌ે C શોધો. 

02 
05 

  VYJF  
 A [[૧] Y-અë સાથે ૬૦˚ ના ȣણેૂ લાગતા ૧૦ ક�ƛȻ,ુ બળના X  અને 

     Y  અë પરના ઘટકો શોધો. 

[૨] ƨવƍછ આʌૃિત વડ° સમતોલનના ̆કારો સમĤવો.                     

02 
 
05 

5|`Gv#    
 V આʌૃિત – ૨ મા ંદશા½વેલ પાટડા માટ° ટ°કાઓની ̆િત�˲યાઓ શોધો. 07 

 A ૨૦ ƛȻ.ુ વજનના એક ƞલોકને ૩૦˚ ના ȣણૂે આવેલી ́ાસંી સપાટ� ઊપર  

ચઢાવવા માટ° જĮર� સમ�ëિતજ બળ શોધો. �ƨથિતક ઘષ½ણાકં ૦.૨૫ લો. 

07 

  VYJF  
5|`Gv#    

 V આʌૃિત – ૩ મા ંદશા½વેલ પાટડા માટ° ટ°કાઓની ̆િત�˲યાઓ શોધો. 07 

 A આʌૃિત – ૪ મા ંદશા½વેલ  સેƈશનȵ ુમƚયકҰ̃ શોધો. 07 

    
5|`Gv$    

 V એક પદાથ½ ૪૯ મી/સે ના વેગથી ઉƚવ½ �દશામા ંફҰƈવામા ંઆવે છે.તો 

[૧] ૨૯.૪ મી/સે નો વેગ ̆ાƜત કરવા માટ° લાગતો સમય શોધો. 

[૨] મહĂમ Әચાઇએ પહҭચતા લાગતો સમય અને મહĂમ Әચાઇ શોધો. 

[૩] જમીન પર પહҭચતા લાગતો Ȣુલ સમય શોધો. 

07 

 A Ʌરુ°ખગિતના અને કોણીયગિતના સમીકરણો વƍચેનો તફાવત ઓછામા ં

ઓછા સાત ȺĆુા ƚવારા આપો. 

07 

  VYJF  
5|`Gv$    

 V એક ̆ëેપીȵુ ંમહĂમ સમ�ëિતજ Ӕતર ૨૪૦ મી અને ઉÿ»યન સમય ૮ 

સે. છે. શĮઆતનો વેગ અને ̆ëેપકોણ શોધો.  

07 

 A ૬૦ R.P.M. ના કોણીયવેગથી ગિત કરતા Ɲલાયƥહ�લ પર ૦.૬ 

ર°ડ�યન/સે²  

07 



 4

  નો ̆િત̆વેગ લાગે છે. તેને �ƨથર થતા લાગતો સમય અને Ȣુલ કોણીય 

ƨથાનાતંર શોધો. 

 

5|`Gv5    
 V પર�વત�ત સાદાયં́ ની ƥયાƉયા આપો. અને તે માટ°ની શરત વણ½વો. 07 

 A ̆. – ૪[અ] ને વેગસમય આલેખથી ઉક°લો. 07 

  VYJF  
5|`Gv5    

 V એક સાદાયં́  પર નીચેના અવલોકનો મેળવેલ છે. યં́ નો િનયમ શોધો. 

અવલોકનો ӖƊલીશ વȒન ̆માણે લેવા. 

07 

 A એક ૫૦ મી. Әચાઇવાળા કҭ˲�ટ ડ°મના બાધંકામમા ંત�ળયેથી ૫ ક�.ƛȻ.ુ 

વજનની ડોલ વડ° કҭ˲�ͫને Әચકવામા ંઆવે છે. દોરડાȵ ુવજન ૮૦ ƛȻ/ુમી 

છે. એક ડોલ કҭ˲�ટ Әચકવા માટ° કરɂ ુપડȱ ુકાય½ શોધો.  

07 

 
************ 

 


